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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISS-
ING PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.
Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Application
No. carefully and without any omission or discrepancy at the appropriate places in the OMR Answer
Sheet with blue or black ball pen. Any error detected in the scanned data of the Answer Sheet due
to wrong encoding of either Application No. or Roll No. or both by the candidate, his’her Answer Sheet
shall not be evaluated and shall be rejected straight away.

You have to enter your Roll Number in the space provided. DO NOT write anything else on the
Test Booklet.

This Test Booklet contains 100 items (questions) printed both in Hindi and English. Each item com-

prises four responses (answers). You will select the response which you want to mark on the Answer. . ..
Sheet. In case you feel that there is more than one correct response, mark the response which you .

consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions °

in the Answer Sheet. All items carry equal marks. ‘

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per entries given in your downloaded

Admission Letter.

After you have completed ﬁllmg in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Original Copy of Answer Sheet. You

are permitted to take away with you the Test Booklet and Candidate’s Copy of Answer Sheet

Sheet(s) for rough work is/are appended in the Test Booklet at the end.

THERE WILL BE NEGATIVE MARKING FOR WRONG ANSWER(S) MARKED BY THE

CANDIDATE AS UNDER :

@) There are four alternatives for the answer to every questlon For each question for which a
wrong answer has been given by the candidate, one-fourth of the marks assigned to that question
will be deducted as penalty.

(@) If a candidate gives more than one answer, it will be treated as a wrong answer even if
one of the given answers happens to be correct and there will be same penalty as abeve to
that question.

(iti)  If a question is left blank i.e. no answer is given by the candidate, there will be no penalty
for that question.

(iv)  If there are two or more correct answers instead of one correct answer out of four alternatives
for the answer to a question, all those candidates who will encode any one ‘of these correct
answers will be awarded marks allotted to that question. -

No marks shall be awarded for scrapped question.

In case of any discrepancy in English and Hindi Versions of the item (question), the English Version shatll

be treated as correct and final.

', USE OF MOBILE PHONE OR COMMUNICATION DEVICE IS STRICTLY BANNED IN THE EXAMINATION
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1. One of the obstacles to the scientific study of children is finding methods
that will not only be : |
(A) Suitable for use with children of different ages
(B) Will be scientifically accurate
(C) Will yield valid résults ‘
(D) All of theb‘above. v
aﬁi%éaﬁmawﬁwwmﬁﬁﬁfaﬁaﬁ@am%,ﬁm%@*ﬁ':
A) fof=T 39 & o=t 3 g W@ @ fou swEw
(B) ¥k T A wEF
(C) #r wfomm 37 aeh
(D) 3wdw |t
2. Advantage of cross-sectional approach in child study is :
(A) It is time saving |
(B) Permits anéiysis of development of each child
(C)- Permits study of growth increménts
(D) None of the above
éma@mﬁﬁv—@wmgf&ﬁmm%wu%;
(A) 9% 999 ® o9d H@ |
(B) 7% 7= @ fow & fovem # omgEfy am ¥
(©) dfs & srm # oAl &
D) sw # § B T |
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3.

Which statement is true ?

(A) The development pattern is not predictable

(B) Development is the product of maturation and learning
(C) Later ’developm;ant is more critical than early development
(D) All of the above. |
FAE FET T T ?

(A) fomma @1 Yot srgmfa = %

(B) fom wRuse iR diem #1 s’

(C) Ry fowm #1 g & o &1 fawm ifus weeql #
(D) Sugw |+

Readymade garments are becoming more popular as they :
(A) Save time and energy

(B) Need alteration for fitting

(C) Are not pre-shrink before stitching

(D) None of the above

o S S g

-(A)we:ﬂtmfm%

®) fHfEm @ fo agamE F1 s A

- (C) foemd & weat wd faped & ¥

D) sT® § ¥ = F 76
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5. Physical d'eVelopmeht depends on :

' (A) Heredity (B) Food |
(C) General health D) Al of these
g e T
&) dmgwEn - B) viw

C) W W O A i
6. Good clothes providé : .’

(A) Attractiveness to the Qearer

(B) Mental satisfaction | )

. (C) Comfort -

(D) All of the above

1> FUYAA e WA E

A) TR TR B fow s

(B) WAfe® Wafe

(C) swm

D) sHw
7. Sports'Wedr/‘clothing shouid be : _

(A) Soft and absorbent _(IB) Elastic in nature

(C) Durable (D) All of these

(A) @ oW @) v A dER

© s © A wh
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8.  The nutritionist who has contributed to new knowledge in energy metabolism

and requirements : -

(A) Lavoisier o ~ (B) Atwater

(C) Benedict D) All of the these -

e i R Sl T R sTaveEm B T 9§ A R &
@) wRw | B s

(€) Nfex - ® I it

9. Early childhood years are years of :
: (A) Slow growth and rapid developmeht
(B) Rapid growth and slow. development
(C) Rapid growth and devélopxﬁent both
(D) All of the above - |
WRivs a9 & a ¥
@ 9 o o A A R S
®B) WA A 3f5 o R T A o @
© T A s SR e A @
D) Tgw W

10. This is regenerated cellulose fibre :

(A) Cuprammonium (B) Flax

(© Nylon (D) All of these
7% TF PN dege e ;. o
(A) T ®) W (ww)
(©) T | @ i
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11. Self-actualization theory is given by :

(A) Ericson (B) Piaget

(C) Maslow - | (D) None of these
IH-aTER fagm feas g feor mn ¥ 2

(A) few | B) frr

(©) == O T ¥ = o T

12. What is a communication model ?
(A) Receive‘r-message-sender-channel—treét_ment
(B) Sender—message-treatrhent-chan,nel-receiver
(C) Message-sender-channel-treatment-receiver
(D) None of the above
R Afed = ¥
(A) TEeR-HRY- Yok - - 37aR
(B) Ik -HY-SHAR-27el- Rt
(C) HRU-veh-F7et-STanr- Rt
(D) 3w & ¥ #E of 7

13. The word ‘Extension’ was used at first by :

(A) Mirdula Seth o (B) Vinoba Bhave
(C) E. B. Vorhoes (D) None of these
R R WA T e R gR R T ar 2
A) fiden 93 B) faar y@

© % . dEw D) AW
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14. The need for guidance is :
(A) Education related
(B) Occupational
(C) Personal and psychological
(D) All of the above |
Arfee # TEwEwdr €
(A) foan wafa
(B) =EHIgH , ‘
(C) =afema iR wdw
(D) 3w wft
15. Which combination is not correct ?
(A) Warm colours-advancing colours
B) Lightnesé or darkness of colours-value scale
(C) Cool colours—neutrgl colours
(D) Brightness or dullness of colours-chrome.
HE g T ¥ ?
(A) ™ T - "Gl @ )
(B) Tl 1 THIT 1 Mo -Ted Yo (Ig @) |
(© win 1 - T
(D) Tl &t THF A AREGA-HH
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16. Role ‘of teacher in guidance and coqnsel_ing is :
(A) Helﬁful in the development of child
(B) To collect information and data
(C) To solve problems.
(D) All of the above
ARl iR vt A fowe w gfew ¥ .
A) =1 % fowm § wgEw
(B) WM&Rl iR 321 wHA A & fay
(C) THEn # gHEE 1 @ fag
(D) Iudaa asit
17. During roasting of coffee beans these are increased :
(A) Oleic acid
(B) Malic acid
(C) Formic a1_1d acetic acid
D) Noné of the above S
FR TR D W A 9 W E
(A) s Tfes
B) e s
(© whiw o Wik e
D) s § ¥ B o T
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18.

19.

Kapok fibre is unsuitable for this purpose :

(A) Sound proofing (B) Insulation

(C) Spinning - (D) None of these
T IRV B U T R SIS ¥

(A)\mxﬁi’n | - (B) THAH

(©) FaE | ©) T Y W

Good counselor should have this quality :
(A) Cénﬁdentiality |

(B) Use of local language

(C) Knowledgeable -

(D) All of vthe above

D HEER F 7€ T N =y :

(A) T

(B) @t w1 &1 wEm

(©) T |

@) I W |

Psycho-sexual theory was given by :'

(A) Thorndike i (B) Ericson

" (C) S. Freud (D) - None of these -
- (aEEdegeE) fagi fRed R R T o 2

@A) odeEs (B) oA

(C) 8. WS | (D)saﬁaa?éaﬁﬁa

TBC : YRS(AP-CC-Home Science)-2022 9
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21.

22.

If these lines used in the construction of the garment, person looks tall

and slim :
(A) Vertical lines "~ (B) - Horizontal lines ,
(C) Curve lines - (D) None of the above

aﬁuﬁm%ﬁﬁwﬁ‘sﬂ%@aﬁmmmvﬂm%ﬁwﬁﬁmaﬁrm
dEm ® ' \

@) s ®) i Yt
©) =% W@ D) T A *KE F
The intensity of ...........co.oee........ is measured in terms of candle-power.
(A) Heat B) Cold |
(C) Light (D) None of these
...................... T S SR G g 3 (%m ) %w‘ﬁﬂm’m Y
(A) am B) R

. () T | (D) & & =8 of &

23.

The proportion in the upper and lower portion of a garment is called ‘golden

mean equation’ if the proportion is :

(A) 2:8 (B) 3:8
© 4:8 M) 5:8

fredft Rum & I ik e G 2 o U+ 'gART Wew TR’ R ST
t- R saqm ¥ |

A 2:8 (B) 3:8

©4:8 @ 5:8
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24. Tension regulator, face plate and feed dog are parts of a :

"~ (A) Washing machine (B) Vacuum cleaner

| (C) Stiching maching | (D) None of these
Hm AR, B W IR e T s R E 2
A) afem wim (B) ¥ AR
(©) foeré weft D) v § w off &

25. When electricity is used in homes, which colour reflects maximum iig‘ht ?

(A) White (B) Grey
(C) Green » ‘ (D) Red

maﬁﬁﬁaﬂmmﬁmm%?ﬁaﬁwhmﬁmﬁm

aﬂa_r%?
(A) BT | . B) W@
©) & D) @

26. Favism is caused by the ingestion of :

(A) Uncooked broad beans (B) French beans
(©) Raw peas | D) None of these
e Frefefan & siwien & @ G |
@) F= s d B W d

(C) =8 HX D) Td A *E ot
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27.

The reaéon for breakmg of needle of sewmg machine is :
(A) If the needle is not according to the cloth

(B) If the needle is too long ’ -

(C) If pressure foot is not' fixed properly

(D) All of the above

foreré i ) ® T w w

@) I G I B o T D

(B) TR G wga @t &

. (C)mmgreaﬂaaaﬁmnﬁ%

- 28.

29.

D) 3w et |
The size of needle for stltchlng llght weight organdy, v01le and s:lk :
should be : _ '

(A) 9 no. ~ (B 11 no.

(C) 14 no. -~ (D) 16 no.

T 99 & I, mmmﬁm%mgﬁmmmm~
(A) 9 no. ' (B) 11 no.

(C) 14 no. : o 1))] 16 no.

The following points should be considered during evaluation of i)fogramme
planning : | |

(A) Functions of committee (B) Committee 'organization

©) Annual plan of work | '(D)' All of these B

FRiE FrieA & Tqeaied ® N Frefefen figel W R R S i
A) sfefa & wed (®) whf we | '
© #d 3t wffs o ©) A wd
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30 Rettmg process is done to get ﬁbre from

(A) Linen (B) Jute
| (C) Hemp = (D) All of these
'ﬁwﬁrﬁaamwwmaaﬁaﬁfaqmﬁ(m)maﬁwﬁ%:
- (A) o | B)
©@m . @ ¥
© 31. FSSAI was established in :
@) 1985 . | B) 1995

- (© .200_0‘ «_ - (D) 2006
'FSSAL # W 1 T of |
*) 1985 %  ® 1995 ¥
(©) 2000 § D : 2006
32 Basic feature of regenerated cellulose fibre is :
(A) Low in resiliency
(B) Less absorbent
(C) Attacked by~moths
‘(D) All of the above
Ysiifad Qegelsl WigaR @i kS fﬂ?’l‘ﬁl T
(A) a=tenE # %9
(B) W WiuH
(C) il g1 g f‘aran T
©) s oW
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33. This sampling method is scientific, less expensivé and no partiality :

(A) Random sampling (B) Purposive sampling

(C) Multistage sampling (D) None of these

5 i fafs 4, w9 weieh SR va W d

(A) aRfeas yfaget (B) WrR¥d wfaeel

(C) vt dufem - D) T § HE st 7
34. Lysine is a limiting amino acid in :

(A) Wheat | (B Rice

(C) Corn ' (D) All of these

Pretfufen § i T W s e &

A (B) =&

(C) W | (D) & @it

35. Champagne contains excess 002 due to :
(A) Distillation
(B) Fermentation
© Secondary fermentation after bottling
(D) None of the above |
M & afafs co, Frfafan & wrw 3a ¥ -
(A) s |
(B) fevaT
(©) wefeim & ar fodfta v
O) 3w # § F5 |t &
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36.

37.

38.

Which factor blocks the participation ?

(A) Lack of time (B) Fear

(C) Lack of knowledge (D) All of these
T FREH HEE B A ¥ 2

(A) 993 H FHt (B) &

(C) I & HH D) 3 w4

Which was the first Indian Satellite 1aunched in April 1975 ?
(A) Rohini (B) Aryabhata

(C) Bhaskara (D) None of these
aﬁa197sﬁwamwmﬂmﬁwmmm 2
(A) et (B) 3w

(©) e N ) wEd P h
In iodized salt the iodine is presenf as :

(A) Simple iodine | - (B) Sodium iodate
(C) Potassium iodate ' (D) None of these
S I TE § R T w9 § deg dw ¥

(A) FERY SEEH (B) Wfegq amrde
(C) Wefmm amiRe 0 @ A

TBC : YRS(AP-CC-Home Science)-2022 15
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39.

- 40.

41.

The requlrement of an ideal lighting 1nstallat10n is :

(A) Elimination of glare

(B) Non-production of excessive heat

(C) Minimum consﬁmption of oxygen from the air
(D) All of the above

Th 3TN TR el H fasivar At ¥ .

(A) THEY H I

(B) ¥rcafuss T @1 TR-IRH

(C) & ¥ ST H IR WO

(D) 39gw® a4 ‘
‘Silk is obtained from silkworrﬁs which are fed with :
(A) Mulberry leaves - (B) Oak leaves
(O Castor leaves (D) All of these
W A, WW P W Y ww e ww § R e o Y
(A) @@ & W™ (B) vigae@ #t ufwal
© & W © W
If milk is not properly processed and handled, it can transmit this disease :
(A) Typhoid fever | (B) Scarlet fever
(C) Tuberculosis - (D) All of these

aﬁ'q\uﬁaﬁmﬁwﬂam@xwmﬁm%aﬂzmm&m
H GHAT T ;-
(A) TEFEE oW ' (B) @R =R

(C) wifgw =R - D) F ol
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42. ‘Nylon fibre is manufactured by using
(A) Ethylene "glycgl and Dimethyl terephthalate
(B) Adipic acid and Hexamethyline diamine
(C) Acrylonitrile compoﬁnd
(D) None of the above
T e w1 i fRe g e S ¥ 2
(A) TR TR AR eSEfHuRE Judee
(B) el wfee iR e ST
(C) UheirrgrEe Afith

(D) vw A A W o

43. For comfortable stairs the relation between tread and riser should be :
| (A) Tread 11 inch and .ris.er 6 inch
(B) Tread 10 inch and riser 15 inch
(C) Tread 15 inch and riser 12 inch
D) Nohe of the above
Wm%ﬁqkaﬂiwﬁaﬁawwumm
A) ¥ 11 39 R WK 6
(B) 2 10 9 3 TR 15 F
© ¥ 15 7 IR TR 12 9
(D) 3F® § |§ F off &
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-

44. For decreasing spoilage and retarding the ripening level of fruits, the 0, &
CO,y level should be :
(A) 2-3% Oy and 5% CO,
(B) 5% Oy and 8% CO,
(C) 10% Oy and 15% CO,
(D) None of the above _ |
Fell F TUE B SR T F W F B FE B I 0, IR CO, FOER
B ey
(&) 2:3% O, 3R 5% CO,
(B) 5% 0, 3R 8% COé
(C) 10% O, 3R 15% CO,
(D) 39w & & #E o
45. Leno, Bird’s eye and Huckaback are the names of : |

(A) Cloth finishing
(B) Weaves :
©) Embroidery |
(D) None of the above _
A, TEW I IR THAw FRER W ¥ 2
(A) FIg1 feamTm

(B) T
©) Fer

(D) IEw H A FE o
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46. Objective of communication planners is :
A(A) The right of individual to communicate and to privacy
(B) The right to ‘ask questioﬁs and receive answers
v(C) Equality of access between urban and rural areas
(D) All of the above |
R A W e
(A) =afs F TR O SR P w1 S
(B) W 87 3R SW W@ #3 1 AEER
©) wEh vy & @ e wde F g
(D) 3w |t
47. This is not an oxidizing bleach :
(A) Sodium hypochlorite
(B) Sodium hydrosulfite
©) Potassium permanganate’
(D)‘ All of the above
(A) dGifeem FrdwE
(B) Wifse TRSaTHEe
(C) URfEm W
(D) 3udw® Gt

TBC : YRS(AP-CC-Home Science)-2022 19

P.T.O.




48.

49.

50.

The colour scheme of a room primarily depends upon the manner in which
it receives :

(A) Air (B) Light

(C) Accessories | . (D) None of these
A E -
(A) &= (B T

- (© "R D) wE YW R

The construction cost of a building depends on its shape. This building is
cdnsidered comparatively more cheaper :

(A) Square building - B) Rectanglé building

(C) Both , . (D) None of these

fdt s Bt Fmio arE wem ® R W fR w ¥ 98 TR Qo w9
Q@ sifs Tt o ot §

(A) ErR fafeeT " (B) AR W&

(C) i D) AR
Smoking of meat may take 18 to 29 hours at the temperature of :
(A) 125°F - (B) 135°F

(C) 145°F | (D) None of these

o # wifET § P aEe w18 @ 20 62 o wed ¥

(A) 125°F - | (B) 135°F

(C) 145°F @) ¥ B o
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51. Which philoso‘pher/educationist has described the process through‘
various models ?

(A) Maslow (B) Jean Piaget

(O Aristotle | (D) None of these -
o aifes e, 3 faferr Stecl & mom ¥ Recliawt s &7 aui v % 2
@A) W  ® R e
(C) 31H | | D) T | ®KE off W
52. During baking bread, brown crust is formed due to :
(A) High heat | (B) Low moisture
(C) Mallard reaction (D) None of these
IS T F W, R T R T FFER R a2
(A) 39 @9 | (B) w9 T |
(C) weene giafwman D) wH A =K o @

53. Which is the right statement ?
(A) V.L.W. - Village Level Worker
(B) D.A.O. - District Agricultural Officer
(C) B.D.O. - Block Development Officer
(D) All of the above
TE FHUF B ¥ ?
(A) ATEsTY, - T wa HEwd
(B) AT - Fren i s
(C) M. - yos fawm sfrwd

(D) 39w wst

.TBC : YRS(AP-CC-Home Science)-2022 ‘21 ' P.T.O.




54. The most common method for grading of an egg is by :

(A) Colour (B) Size

(C) Candling : (D) None of these

3R =+t Wfen & fou ge@ o Tl ¥

(A) T (B) &R |

(©) Fefen - D) T q = o &
55. This is a synthétic flavouring agent : |

(A) Benzaldehyde | (B) Ethyl butyrate

(C) Methyl anthranilate (D) All of these

I% TF f9dfew, @WK A aen e ¥

A) Ffesass (B) U sgeEE

(C) faursa dafde | D) A weit

56. This process causes undesirable changes in pulses when the polyunsaturated

fatty acids undergo this process :

(A) Dehydration |

(B) Fermentation -

(C) Oxidative rancidity -

(D) None of the above ‘

S iR B ufaey T YRR ¥ oY ¥ @ uw wiEw ol # smisia
Rt R S Y -
(A) EREIETY

(B) fepvea

(©) sitfe Hafed

(D) 39w # | w8 off
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57.

58.

Environmental factor which can be controlled by packaging :

(A) Permeability

(B) Strength and porosity

(C) Temperature and mechanical shocks

(D) All of the ébove » ,
Tt e o R g b frn o T E
(A) 9Tar

(B) A SR wya

() TR R Al Fe

(D) 3w e

This is a process by Which CO, is converted into the organic compoﬁnds :
(A) Photosynthesis

(B) Photochromic process

(C) Citric acid cycle

(D) None of the above .

& Th R § w0 CO, & i dfil # ufaffa frn wmn &
(A) FR-GEAT

(B) WRfi® whwa

(©) ﬁﬁw MECRSIHETS)

(D) 39d% # & =8 oft T
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59. Adulteration of vanaépati ghee can be identified by :
(A) Boudin’s test |
(B) Halman’s test
(C») Carl’s fest
(D) None of the above . _
o S # freTae W A Fre wew gm # W wed ¥
(A) hfeq =1 Them |
(B) T F1 wiEm
(C) el 1 Tleo
(D) 374w # ¥ w§ off T
60. Which of the following is primary benefit of consuming fbod products rich
in probiotics ? | | |
(A) Improved memory
(B) Increased gut flora in intestine
(C) Reduced fatigue
(D) None of the above ‘
mﬁﬁﬁﬂm&wﬁwmmﬁ%ﬁmmmmww%:.
(A) FER AIRA |
B) st § T W e
(©) FH T
D) 3% # ¥ ®= off T
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61.

62.

@) 1838C (B) 66-82°C
(C) 86-93°C - o (D) None of these
mﬁﬁbﬁm ﬁ'q't»ﬁﬁ'm AIHA aﬁ K lﬂm 4 wg W ¥
(A) 16-38°C (B) 66-82°C
© se93Cc ©) A D h
| Cold sterilization refere to the process preservatlon of food by :
" (A) Dehydration " (B) Radiation
©) Refrlgeratlon . (D) - None of the_se
Fiee R @ A W e W e ae A E
@A) frferr By fafe |
© wa ©) T A w0

- 63.

Therrnophlhs bacteria can grow in the temperature range of :

Nutraceutlcals are beneﬁc1al as they

(A) Inactivate enzymes

(B) Block the formation of carcinogenic compounds
(C) Prevent the fermatioe of free Oy radicals

(D) All of the above |

W&m Wq%qa N iy W ¥

(A) UTEH fifia & o

B) FREASFE A F Frofn @ e

© 7% 0, ifgm ® waa H AH

(1) Wﬁ‘“ﬁ st
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64. Food science helps in :
(A) Prevents outbreak of food poisoning
(B) To producing fabricated foods
(C) Maintaining food standards
(D) All of the above
(A) T foursar & THY B Jhar ¥ |
(B) s @ vl #1 sORT F B faw
.~ (C) @™ "Ehi I FAT TGAT |

(D) 39w |t
65. Kishori Shakti Yojna was launched in :
(A) 1979 | (B) 1989
(C) 1997 (D) None of these
frelrt v de Y& @ T o
(A) 1979 # (B) 1989 #
(C) 1997 ¥ ®) T ¥ FE & &

66. This is used for sensory evaluation of foods :
(A) Weighing scale o
(B) Value scale
(C) Hedonic scale
(D) None of the above
T S wE vl ® W e g e o g
(A) TS AW & e '
- (B) 7o Y
(C) &I @

@) 9% # A FE f 7@
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67. Nucleic acids occur in every living cell, where they are responsible for :
(A) The storage and transmission of genetic information
(B) Giving enex;gy
(C) Satiety value
(D) None of the above
s A YAF Sifaa wifven # wg I ¥, wef 3 e N €, e fo
(A) TERTF FHRR & WErRw AR dexw
(B) S W
(©) I =
D) 3w § ¥+ oF
68. Which of the following is a must in food labelling ?
(A) Name of food item
(B) Standard specification
(C) Place of origin
(D) All of the above
™ efan § frafafes § @ sR-9 g smEvas ¥ 2
(A) @ gd ® ™
(B) W fafemeeand
(C) 3afv =1 wm
D) 0w Wi
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69.

71

Sensor;y evalﬁation of foods is iinportant to : ,
(A) Maintain sai_ne quality of food for each batch of qud product
(B) To control changes which occur during shelf Iife

(C) To confirm acéeptance by the consumer

(D) All of the above
(A)@@W%Wﬁa%m%ﬁmﬁwwmm

'(B)mmﬁmmmﬁwﬁaﬁﬁﬁaﬁamﬁm

(C)mﬁmmdﬁﬁg&mﬁ%ﬁq

B o) s sft

70.

Ketone bodies are produced in excess amount when there is increased
metabolism of :

(A) Lipids (B) Protein

(© Carbohydrates (D) None of these
vﬁﬂﬁmﬂ@mﬁwﬁqﬁsaﬁmmﬂa@ﬁ%mﬁm
RS2 | |
N ﬁvrﬁ'er (B) WA
(C) wFrtersde O T ¥ B
Choose the right option to complete the sentence.
PR to the local people, there is ................... fruit shop ........... the templé.
(A) According, the, on ' (B) For, a, over |
(©) Close, an, into (D) According, a, behind
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72. Change the following into Passive Voice :
: “Rohan will have to do the work honestly.”
"(A) The work would have to be done honestly by Rohan.
(B)_ The work will have to be done honeétly by Rohan.
©) ‘The work will havé been done honestly by Rohan.
(D) Honeétly, the work will be done by ‘Rohan.
" 73. Choose the correct sentence : | o
(A) When she went there,_ we found that the tiger is diéappeared._
(B) It is hard to say whether you are selected or not. |
(©) Hé uses to piay daily these days.
(D) I am moré happy than you've scored first position i‘h the tournament.
4. Chqose the correct indirect form of the folllowing :
“Shall I go to the picture ?”, Maya said to me.
(A) Maya enquired me to go to tl';e picture.
(B) Should she go to the picture, Maya inquired ?
(C) Maya asked me that she should go to the picture‘ ?
' (D) Maya asked me if she should go to the picture.
75. Which of the following explains the given expression ?
Despite the health issues, he persevered and cleared the tests.
(A) He preserved the test repoﬂ':s.i ..
- (B) He suspended' the efforts.
(C) He continued the véﬂ'orts. '
1))] He was prejudiced about clearing the tests.
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76. Which of the .following explains the given expression ?
“In spife of working hard, he’ failed.” |
(A) He worked hard, but he pas‘séd.
(B) He worked hard but he failed.
(C) He worked hard in order to fail.
(D) Working hard results in his s‘uccess..
77. Arrange the following jumbled parts into a meaningful sentence :
: a miser gets |
: a voracious reader

: gets much pleasure from

w = o 9

: reading books than
T : in hoarding money
(A) QRSPT | (B) PSQTR
(C) PTQPR (D) QTPSR
78. IS U w1 fawew g - | | |
(&) o | B) e
(C) Hefich (D) fufa S
79. ‘eﬂﬁf@@ﬁﬁﬁmw' ?mwﬁ‘aﬁtw’aﬁma‘?ﬁﬂaﬁam
S ¥ 2 »
(A) AfTagaTaS (B) WevETah
(C) TEEEE D) TI®H g&ETm
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80. 7E e wva SR - Yeifea wq Frefefan § @ FE 2
(A)mmﬁm‘
(B)gsqaraa;ﬁahm
(©) W forom
(D)ﬁﬁaaﬁasﬁa‘wm ,
81.‘&#&1@?@#?%33@@@%%39@15‘%'@%?
(&) SR (B) wEwH
(C) wmifes wg D) |
82. frafafen § @ s W@ o= =1 e § 2
_(A)aﬁqwﬁmmm%mugméﬁ%n
(B) Y&t W FAER sgal § IR Yy I@ar @ ¥
»(C)aﬁqwﬁmmﬂwﬁugmﬁm
(D) Yo W MR FEd & Uy EaR A ¥
83. P § & e v o’ T R T E 2
(A) MY \ (B dfg
(C) s - (D) UEw
84. ‘TEE-T FE' IR w1 A F - |
(A) wd S _ _.(B)g"hm
(C) G¥m™E TN : ,(b)mm
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85

In which of the following villages, the Seer Khad enters into the Bilaspur district -

of Hirhachal Pfadesh ?

(A) Neri | (B) Seri

' (C) Hatwar (D) Goh | :

B R TR B R R CUBMpCG S ————— G
ww B W

©®m © W

86,

 817.

,Of the following, which is the correct date and year of the fqrmatiOh of Hiriuich’al‘

Pradesh Lokhit Paffy ?

(A) February 03, 2012 " (B) February 12, 2012

(C) February 08, 2012 o February 10, 2012
ﬁmﬁﬁﬁéﬁmmﬁ%ﬁwhaﬁﬁwa?ﬁ#@ﬁﬁfqamaﬁﬂﬁ% ’
(A) 03 ‘Tf{'él'ﬂ 012 (B) 12 ®&Eq, 2012 |
(©) 08 WA, 202 (D) 10 W, 2012

The Kanawar Wild Life Sanctuary is situated in which of the following districts’

~ of Himachal Pradesh ?

" (A) Kangra  ® Kulu

(C) Mandi - | (D) Sirmaur

fomaa Wu @ = § 3 fry fsd # Kanawar Wild Life Sanctuary % ? |
@www o ® T |
© =& . O fek
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88. Which of the following amount has been proposed to be given for the Widow
Remarriage Scheme by the Government of Himéchal Pradesh in 2022 ?
(A)' Rs. 60,000 - “(B) Rs. 75,000 |
(C) Rs. 70,000 : (D) Rs. 65,000
mmmﬁfﬁwsﬁmm%fmaﬁzmﬁﬁwﬁﬁmm
FA F YEE @Y ? |
(A) 60,000 T4 (B) 75,000 &
(C) 70,000 T (D) 65,000 ¥74 | |

89. Which of the following is the correct Multidimensional vaerty Index of Himachal
Pradesh, according fo the.‘H.P. Economic Survey — 2021-22 ?
(A). 1.04% | B 007%
(©) 0.03% - D) 0.06%

- feuraw Ry i adaw 2021-22 STER =1 # § #F-W Multidimensional
Poverty Index W&l §& ? '
(A) 1.04 wfavra © (B) 0.07 wfowa
(C) 0.03 Wfawm D o006 ¥R

90. Which of the following amount has been proposed for the tribal areés development
in Himachal Pradesh Budget - 202223 ?
(A) 1040 ci'ore _ (B) 856 crore
(C) 950 crore " (D) 915 crore
ferae e & s9e 2022- zsﬁwmﬁimﬁmﬁmﬁ@
fha ofer =1 wwE @ %2
(A) 1040 Fg B) 856 Fs
(©) 950 Fg - | D) 915 FAg
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91.

92.

- 93.

According to the Census — 2011, which of the following is the correct percentage
of the Rajput Caste of Himachal Pradesh ? | |
(A) 32.72% (B) 35.61%

(C) 28.85% ‘ (D) 25.70%

2011 ﬁmémﬁmmﬁwmaﬁdmmﬁmﬁﬁaﬁw—m
wfe W@ ¥ 2 | |

(A) 32.72 wfeem (B) 35.61 wiawd

(C) 28.85 Wfwm (D) 25.70 W=

of the followmg, who got the National Teacher Award from dlstrlct Solan of
Hlmachal Pradesh in 2015 ?

(A) Shyam Lal : (B) Sanjay Sharma

©©) Bhupendra Gupta (D) Lalita Kanwar

»mmﬁ@mﬁﬁ%ﬁwﬁﬁﬁézmsﬁmﬁTWWﬁw ?

(A) =M A , (B) g i

©) = T (D) e ®aR

Of the following, who got the Sahitya Academ'y'Award in Hindi, in 2019
in India ? | |

(A) Kumar Manish Arvind (B) Anuradha Patil

(C) Diwan Kishbre Joshi (D) Nand Kishore Acharya

e # fre § Y R 2019 # e B Wi R qoR B 2
(A) TR TS oRfsg (B) STUen wifedr
(© < R W D = R s
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94.

95.

Which of the following Universities got the Maulana Abul Kalam Azad Trophy
in 2019-20 ? | |

(A) Himachal Pradesh University,‘ Shimla

(B) Punjab Univeréity, Chandigarh

(C) Guru Nanak Dev Uniyersity, Amritsar

(D) University of Rajasthan, Jaipur

fr 7 ¥ frg favafeame | 9 2019-20 § dem smm wam s TE!

(Trophy) fiett ?

(A) Tearee Ww favafserem, R

(B) vse favafaamem, T<ime
(C)ﬂ%ﬂméaféréaﬁwa,m
D) ToRYF fovafaemed, AR

Where was the Imperial Institute of Animal Husbandry & Dairying established

in 1923 ?
(A) Mumbai (B) Karnal
(C) Bengaluru (D) Chennai

Imperial Institute of Animal Husbandry & Dairying ® 1923 # =gl wnfim
fem w2
(A) g=g (B) &

(C) e D) fa=
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'96. The Gulf of Mannar is situated between :
(A) South-Eastern tip of India and Sri Lanka
N (B) Kalyan and Khanibhat |
(C) Kutch and Karachi
(D) Kolkata and Lakshédweep
T A wd e W R ¥ 2
(A) YRE qun sieiw & Shvi-gE s §
‘(ﬁ) FTEO qY @I @ 619
(€) w% a1 FH B A
(D) FaFm@ AW e F
97. Which of the following is correct about Austfalia ?
(A) its neighbouring countries ,include‘ Tran .
(B) its coastline is 10,500 kilometers‘

(O) it ’is the fou'rth largest coimtry in the world
(b) it is the sixth largest _cou,ntr.yv in the world
S % AR A Fre § @ Fw w2

(&) f R g A E R |
(B) T9® @1 10,500 FRehiz araﬁ ¥
(©) 7% fava #1 < a9 W ¥
(D)‘ugfavawm.w%w%
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98.

When was awﬁrded the Nobel Prize for Peace to the Peace-Keeping Force
of UNO? |
(A) 1990 . ~ (B) 1988

(C) 1992 | .~ (D) 2001

.73, aﬁmmmaﬁmmmm ?
(A) 1990 ' ' . (B) 1988 -

(©) 1992 | ‘ D) 2001

‘Which of the following Palestinian — American journalist of Al-Jazeera was

shot dead in 2022 ?

(A) Fatima Al (B) Ali-al-Samudi

(C) Asghar Farhadi " (D) Shireen Abu Agleh
W&u%ﬁwﬁﬁmmmwaﬁzozzﬁmww‘

wE | |

(A) wifem oelt - (B) 71T

'(C)mmma’t o D) WA s T

100.

In which of the followmg years, the Roe V. Wade case decision, which gave
the constltutlonal right to abortlon for women, was decided in the USA ?
41973 - (B) 1980

© 1965 v D) 1985
aﬂﬂwﬁf&ﬂaﬁnﬁwwa&uﬁmmﬁmmmev Wadecase'

ﬁﬁwﬁmaﬁﬁw?

(A) 1973 "~ (B) 1980

{C) 1965 @) 1985
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SPACE FOR ROUGH WORK
Hed wE & fog @
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